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Section A
R Sir fefefr
® 822 e506_ (23 )222 o 5066 _ 666 o 5666 _ (2X5)666 —10%
% Sir 4R
[ ) ﬁ+£=3 = ﬁ: _é = ﬁ=3y_b = ﬁ: Y = X= ay
* X X y a 3y-b 3y-b
3 D ”
% Si $2ReR
® [6-(2x-3y)
=4 —(2x-3y)’
=[4— (2x-3p)][4+(2x-3y)]
=(4-2x+3y)4+2x-3y)
4 C F et
% Sir 24245
® 0.0765403=0.077 (correct to 2 sig. fig.)
® (0.0765403=0.077 (correct to 3 decimal places)
® 0.0765403=0.07654 (correct to 4 sig. fig.)
® (0.0765403=0.07654 (correct to S decimal places)
R Sir fefefr
da+ =5 28a+ 76 =35
p = 2 = 58=-15 = p[=-3
Ta+3B=5 28a+123 =20
e [(=-3 = a:5%;3 = a=2
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2 Sir HRE
® f(x)=4x +kx+3 isdivisible by 2x+1 = f(—%)=0
° f(-l)—o = 4L 4k 43=0 = k=5
2 2 2
® When f(x)=4x’+5x+3 isdivided by x+1
— Remainder = f(—1)=4(-1) +5(-1)+3=-4-5+3=-6
7 A ~
B Sir f2iefR - =
® _5x>21-2x and 6x-18<0
® -21>3x and x<%
° —_321>x and x<3
® x<-7 and x<3
® . x<-7
8 C -~
B Sir f24R1R - ¢
® " +kx+8k+36=0 hasequal roots = A=0
® [’-4(1)8k+36)=0 = k’—32k—-144=0 = (k+4)(k-36)=0
® (k+4)(k-36)=0 = k+4=0 and k-36=0 = k=—-4 or k=36
9 D o~
B Sir f21R1R -k
® For —-1<a<0, y=(ax+1)’+a
® Leta=-0.5 = y=(05x+1)°>-0.5 = Vertex = (2, -0.5)
® y-intercept= y=(-0.50)+1)>-0.5 = y-intercept =0.5
® y=(ax+D)’+a = y=a'x +2ax+1+a
® Coefficient of x*= >0 = Opening upwards!
® Therefore, Only the Graph of option D is the answer
pP. 2 ©2016 A Lai learning Center. ALL RIGHTS RESERVED.
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10. |C f erd
B Sir f218fR =
® Let x be the monthly salary of Teresa
® 33360=1.25(0.75)x = x=235584
11. |D o~
B Sir f21RfR - ¢
® (By-4x):2+y)=5:6 = Mzé = 18y—-24x=10x+5y
2x+y 6
EA . ANETYN
y 34
12. |D f ot
B Sir f218fIR =
kel k/0.64x kx 08 kel x
@ =—— = z=——"- = z=——(—) = z="--—(0.5)
y 1.6y y 1.6 y
® . zisdecreased by 50%
13. |A f et
% Sir IR s
® 36><(2+;>)—42><3=27 — $27/kg
14. |C f ot
B Sir f21R1R -k
® Istterm=9, Common difference=>5
® Tthterm=9+(7-1)(5) =39
©2016 A Lai learning Center. ALL RIGHTS RESERVED. pP. 3
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15. B o~
% Sir $2HR
® )L=c+(180-1) = a+b-c=180" = Option II is correct
® If a=80 and ¢c=1200 = a+c=200 #180° = Option I is wrong
® If »=250" and ¢=120 = b4c¢=370"#2360" = Option III is wrong
16. D "~
% Sir 4R
® In AABD, 24° +32°=1600=40" = ZABD=90" = ZCBD =90
® In ACBD, BC=+68"-32>=60cm
17. |A o~
R Sir fefefr -
® /ADC=114 = ZBCD=180" —114" =66
® _/EBC=66 = /ABE=114 — /ZEBC = /ABE =48’
18. |C f ot
R Sir 4R
o - IF 512 = v 50,
19. A f et
% Sir f2fefr ¢
®  [et the angle of the sector OAB be @
(2] 7] .
® 71(39°)(—)-7BF)(—)=727x = 6=60
( )(360) ( )(360)
® Area of sector OAB = 7(33%)( %) =181.57 cm’
® Perimeter of the sector OCD = 137 +39x2 = 137+78 cm
P. ©2016 A Lai learning Center. ALL RIGHTS RESERVED.
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20. |C f erd

R Sir £2i8fR .

® A:A:A=1":2:3 = A:A:A=1:4:9

® Areaof AADP :Areaof Quad. DEQP :Areaof Quad. EHGQ

=A:3A:5A

® Areaof Quad. DEQP :Areaof Quad. APCB =3A:5A=3:5
21. B -~

% Sir 245

® Y _cosa and = =sinc

A BC

® x=ABcosa and y=BCsinc

® AD=ABcosa+ BCsinc
22. D ~"

Z Sir £28fR .

® /ADC=118 = «DAB=180"—118 =62" (prop. of rhombus)

® /DAB=62" = /DCB =62 (prop.ofrhombus)

® /DCB=62" = /DEB=31 (Zatcentretwice £ atcircumference)

° Z/DFE=180"—62'-31" = ZDFE =87 (£ sum of triangle)
23. |A -~

% Sir BRHR

® Proof by inspection!” =/ Axes of reflectional symmetry = 2
24. B

% Sir £28fR &
® (n-2)x180 =3240" = n=20

® Each interior £ = % =162° = Each exterior £~ =180-162" =18’

® Number of diagonals = 20/2 = 10

©2016 A Lai learning Center. ALL RIGHTS RESERVED. P.
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25. D ~
R Sir f/iRfR - :
® jix+ky+15=0 = y=—ﬁx—E and 4x+3y-5=0 = y=—ix+é
k k 3 3
. . h_ 4 3k
® Two straight lines L each other = _ZX_E =-1 = h= T
® Intersection at a point on the x-axis = 0= —Zx _1k5 = x= —%
. . . 4 5 5
® Intersection at a point on the x-axis = 0= _Ex + 3 = x= 2
® Therefore, —Ezé = h=-12 = —12:—% = k=16
h 4 4
26. B o~
% Sir #RE
® Let the co-ordinates of Cbe (2y, y)
® AC=BC = 9-2y)+(2-y)’=(=1-2y)"+8-y)" = y=1
® Therefore, x-coordinate of C =2(1) =2
27. |C ~
% Sir $24R0K
2 2 2 2 65
® 3x +3y"—12x+30y+65=0 = x" +y —4x+10y+?:0
® Therefore, Center (—_74 g —%) =(2,-5)
® Radius = \/22 +(=5)*= (%) = % =2.708...
® Distance between the Origin and the center
= J(2-0) +(=5-0)> =~/29 =5.385... > 2.708... = Radius
P. 6 ©2016 A Lai learning Center. ALL RIGHTS RESERVED.
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28. |C f erd
B Sir f218fR =
3.3
c, 4
29. B o~
% Sir $2R :
1 3 6
® [Expected numbers of tokens = 90x—+20Xx—+10x—=21
10 10 10
30. B o~
RSIFRIK :
® Modes=68 = There are at least three 68 in the sequence.
® 324+68+79+86+88+98+98+68+68+¢c=77%x10 = =85
® Arranged in ascending order: 32, 68, 68, 68,79, 85, 86, 88, 98, 98
® Median=(79+85)/2=82

©2016 A Lai learning Center. ALL RIGHTS RESERVED. P.
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Section B
31. |C ~
I Sir f/iRfR - :
® 94°b=13)(3)a’h and 124°b’ = (2)(2)(3)a’b’ and 154° =3(5)a’
® Therefore, L.C.M. = (2)2)(3)(3)(5)a’h® = 180a°b’
32. D ~
IR Sir fRIRIR ¢
4 1
® Jogoy=()x—2 = loggy==x-2
2 2
x o 1 1
® y=ab" = log,ab :(E)x—Z = xlog9b+log9a+:5x—2
logya =-2 a=9_2=i
P | = 81
logyb=— 1
2 b=92=3
33. A ~
T Sir fRIRfR - :
®  BCO00DE000000,, =11x16" +12x16" +13x16" +14x16°
®  BCO00DEO000000, =11x16x16'' +12Xx16'" +13x16x16° +14x16°
®  BC000DE000000,, =188x16" +222x16°
pP. 8 ©2016 A Lai learning Center. ALL RIGHTS RESERVED.
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4. B ~
B Sir f218fR =
® = 7.>< 7.: 249.2= j9 ifa=7 =wuw=— is not rational
a+i a—-i a —-i- a +1 T +1
7 a—i Ta 7. 7T a+i Ta 7
® u= X——=——————1i and u= -X e e
a+i a-i a+1 a +1 a—i a+i a+1 a +1
® Therefore, the real parts of u and v are the same.
o l_ati_a 1. ql_a-i_a 1.
u 7 77 v 7 707
35. 3 f ord
B Sir {24218 =
® AtS, 712)-5(6)+3=57
® AtR, 712)-5(12)+3=27
® AtQ, 7(6)-5(18)+3=-45
® AtP, 7(6)-59)+3=0
® Remarks: Actually, by inspection, point S is the only possible answer! Why?
36. B

a, =189 ar® =189
® For r=—/3=-1732.<1 but r=+/3=1.732..>1
® g, =32 W3 is irrational

70-W3)")
1-4/3

70— (3]
1-(—/3)

Sum of 1% 99 terms =

=21 2=21
° {% = {ar — =9 = ;=43 = a=7

® Sumofl1"99terms= —— >/ 2309633 x10* for r=+/3 but

~1.0619...x10%* for r=-/3

©2016 A Lai learning Center. ALL RIGHTS RESERVED. P.
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37. |A o~
R Sir IR :
® C(Cosine graphis inverted = a <0 and Amplitudex2 = a=2
® Therefore,a=-2
® Cos (2x°) = Newperiod = old period /2= New period =180° = b =90
38. B "~
% Sir HHRR
® 5sin®@+sinf@-4=0 = (5sinf@—4)(sin@+1)=0
® 55infd—-4=0 or sinfd+1=0 = sinB:% or sinf=-1
® For 0 <sin# <360, There are two values of 6 for sind =:
o For 0 <sin@<360, There are one value of & for sind=-1
® Therefore, There are three distinct roots for 5sin’6+sin@—-4=0
39. (A o~
T Sir f2fefr ' :
® In AABC,
® In APQC, PQ=+9>+10° =4/181
® In APFA, FP=+/24>+10° =26
® In AFHQ, FQ=+15+20% =25
2 2 56
® In APQOC, (\/181)2 =25"+26"—2(25)(26)cosLPFQ = cos£LPFQ = s
[re2 g2
® Therefore, sin ZPFQ = N6 —56° = 33
65 65
P. 10 ©2016 A Lai learning Center. ALL RIGHTS RESERVED.
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40. D r~
I Sir f2fefr - :
® Draw a center O on somewhere onAC = ZBOD =360"-90"-90" —68
® /BOD=112" = LBAD=1—122—=58°
41. |C ~”
% Sir f2fefR ¢
® By calculator program — P (5.4142..,4.8284..) and Q (2.5857.., -0.8284..)
® y-coordinates of midpoint of PQ = (4.8284 + (-0.8284))/2 =2
® Remarks: Do you know which 4 programs are the most useful in HKDSE
Mathematics exam?
42. (A f ot
%R Sir $2fefR - :
® C;C) +C.C/ =108+9=£
cy 495 55
43. D "~
% Sir $28efR ¢
® CUCr+CPCY+CYC;” =38760+ 232560+ 508725 = 780045
I Sir f2fefr -t
614 4 24
P By 2) — 3 y2 =27y22
3y 3y
45. |C

2R Sir £218fR - :
® Variancex4®> =49x16=784

The end.

©2016 A Lai learning Center. ALL RIGHTS RESERVED. pP. 11

wnrnr anAiyzladi hlk  Proanarad hiyy AnAdys T.aid



DSE-MAT-16-C2S

Cxrsir sz

2016 HKDSE Mathematics Core Paper II Suggested Solutions

% sie R 2016 4 5 HiE

IR BT
FEEER? T L

sir Zy'= P B I !

FEE ) 3 R EER A, o R,
SRR, A RS ST
xpiEsEar s 6772 3001 2.

o I A S

http://www.andylal.hk/dseintensivew

—

mug))

HKDSE 5 * Teacher
Mathematics 5+
Economlics
Physics
We are devoted to teaching!

HKDSE / IB Diploma / GCE AS AL / SAT /HSC/ AP
IGCSE / GCSE /IBMYP /IMO /F1-F6 /Y7 -Y13

Work hard, PLag hard!
No pa’wx,s, No gains!

ALL RIGHTS RESERVED.

©2016 A Lai learning Center
anAdw1a41 hik AnAdsr T.ad

reanarad his



. AT |
TR

i‘? SIr ?:? /T Andy Lai BEng CUHK, MIEEE E{f‘ i ,\’;M

R A

BENABP X AETIIRE L, Ksir K BAPEA 2 -,
423§ 15 & #4%¢ £+ & /1B Diploma/GCE /HSC/SAT / AP/ GCSE / IGCSE / IB MYP k2 15
FEL 5 HIHR DY £ IGR, T sir RE L RN F PR RIS G R AL
RENGER, FRTPILHRTT; PR FR LT, R FREL.

E¥ 3R FEE, K24, B Ve FrRAN, P 2BV FenFlipieg &,

o bl Rie, WA S foR e Y BRI R Koo RdRY oL B F SR LR .
Bosir AV oA RN §- L@ Ed EEBHSFFE ol S 42 .
FRE4B 3 RFRES R, FERE Y, A HF =T, 82 LrH g 55,

SHRPE: R, FRA, CEE, LHP, SR, B ER

] i‘? Sil‘ 7 E g i fjl:: “l\é’f: ,é-{m'n:\//on‘r!DQ(:\g\\;\

> FEAB? E2E (HKDSE), % =82 3@ 5545 nt 4. (23 H5
S¥r B2 SFB 1S BBR A, B2ET2620 520, 2128 B FER

< #RB Y (GCEAS/AL), % =84 5@ A%A kR 55, {§52 38545 A%

< F'%* & (IBDiploma), % =54 5®6/7 %%, {75251 44/45 4.

< #HE% (IGCSE/GCSE), 5 =83 F A/A*3 4, { ] 24T 8 A%

> ded 4 L BIEH (CESI) %% #Az MCV4U, 3% 98/100,99 /100 # 3 -

S F4 AHFEL (EAS), B3 > F AL BEBRY 4 2 25K

- 4#7 £¢4 (HKCEE), % =52 318204111 & 4.

< Fh T AREESERE BIMC2013) B2k &%,

S REELH/REG/ER, SFInEERE/ AR/ - SRI2EYC ¢

<& :ﬁ‘ﬁ %, 82 dé, gi'}%;%ﬁ—;‘ﬂﬁrrf 31 . www.andylai.hk/result.htm

¥ osir 0% AR

<>
<>
<>
<>
<>

ERE 1-61), FFRLKE; REF-FL 5L, T2#8.
S S e, MY MIT30 E AR fot RO BB E A
AR, RARTYE; RS REES R

FiDp d Bk BE 2GRN S {7 EE

FEHFHA T T $ 4 www.andylaihk

,J.
#
L




E et

<>

<>

<>

% sir ¢ ¥ A Lai Learning Center
HKDSE / IB Diploma / GCE AS AL /AP /SAT /HSC

IGCSE/GCSE/IBMYP/KS3/MO/F1-F.6/Y9-Y13
FFEe EAY HeF ey X ;4 ,%!!.
Sir §§ i Audy Lol e Yy

ZENREY A F, Fsir KT AIPEL 2 -, i

4231 16 £ ¥ ¢ & 2§ /IB Diploma/ GCE/HSC/SAT/AP/GCSE /IGCSE / IB MYP #4255
N N T A T T S L A O
AUNFSIrREERAVFL, FIRPNE/F, ?27 &, FREREIZATEL.

REGE DY, KRB0 ﬁ-aﬁkgwi&{,aﬁkggﬁﬁJ
FrAFUHIIRE, KA E, HAFVAER FrAN, PO FLEY AR &,
PEHRLE, Y v frE e P BF Y WY o, B R E R R F R AR,
% sir fv Q‘fr"‘?ﬂ?l* -t g2, §EFSAFE feifd it F 2 B
FRAGRPRERES S F, FERRSY, T2 FWAm@,, %7 Lrgg it i,
® sir ﬂ'—f)i FREN2RBAEIFTLRIFTERTIRE- 2, *FELFL TN 2B AT
FRAMXF, FFAimgrd @2t EiFin ﬂf;’;,#, el g ¥35

‘%"’ﬁ?'-ﬁ?' EPRGASRM LR RS AZE 50% FRFUARD7FEL"#N4ARA 1 Outstanding
Performer", = ##-3 A} chivih G iBi@* 301 174,

Bosir 2 RERE, RABLIE, LR ORETE, FYRP L - REV S B RRFS

ETRY

¥ osir 1 PArEd

R

TERE (1 64%), FFRIRE; RS 2FIFR, 3285
ool Le, RY T30 E AP ot AR BEE FA.
ﬁ@ﬁﬂ,%bﬁﬁli BEFEE YRR,

Foirp d Bl PEEZRAER F it (G R

PR 2 3cA2sH 4 T fenk: www.andylai.hk

\\\--

ﬂ"%_, el s gg’:gsgﬁs e i E2Dc, )ﬁeH A2 4o

_M,_D'ef:;ok L e aoRe L e 1,1A, 2, 3C, 6, 6C, 6F, 9, 30X, 35A, 41A, 42A,
_ }' ' 60X, 63X, 68X, 69X, 81S, 87D, 93K, 95, 104, 117,
&, 203, 212, 230X, 234P, 234X, 238P, 238S, 2598,
2 270P, 281A
M e 21K, 74,748
‘ ’F‘tm BISir# %= A Lai

Learning Center

dikon: B FELATEREILEFFT LT 706 3.
AWBHA: 67723001

TEC Ll enquiry @andylai.hk

Reht: www.andylai.hk




